nf1:= SetDirectory ["C:\\drorbn\\ Academ cPensi eve\\ 2010-08"1;
<< Knot Theory"®
<< pA.m

Loadi ng Knot Theory"™ version of April 20, 2009, 14:18:34.482.
Read nmore at http: //katlas.org/w ki /Knot Theory.

in4:= PA[pd_PD] : = IVbdule[
{cd, res, vars},
cd = CGircuitDiagramee (pd /. x_X = If [PositiveQ[x], Xpeex, Xmeex]);

cd =cd /. {
Xpli_, 1, k_, 1 _1 = Xp[i, O, k, |17,
Xpli ., j_, 1, 1_1 = Xp[i, j, 0,117,
Xmii ., j_, 1, 1_1 = Xm[i, j, 0, 117,
Xmri , j_, k_, 1] = Xm[i, j, k, 0]
Y
res = Last [pA[cd]] /. {WMi_]1 » i};
vars = Union[Cases|[res, t[i_] =i, Infinity]l;
res /. Thread[(t /@ vars) » (Array[t, {Length[vars]}])]
I:

pA[other __1 : = pA[PD[ot her]]

inel= Bor = Link["L6a4"];
Sinplify[{pA[Bor], MiltivariableAl exander [Bor][t]}]

KnotTheory:loading : Loading precomputed data in PD4Links’.

KnotTheory:loading : Loading precomputed data in MultivariableAlexander4Links'.
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ingl:= wBor1l = Gircui tD agram[
Xp[l1, 6, 2, 5], Xm[7, 2, 8, 3], Xm[3, 6, 4, 5], Xp[8, 0, 7, 4]
1

ouggl= Circui t Diagram[Xp[1, 6, 2, 5], Xm[7, 2, 8, 3], Xm[3, 6, 4, 5], Xp[8, 0, 7, 4]]
info]:= PA[wBor 1]
oufe)= AHD[ (t [6] =t [5])? (t [7] =t [8]) (t[0] =t [1] =t [2] =t [3] =t [4]), {1}, WO], O]

in[11:= wBor 2 = Ci rcui t D agr am[
Xp[l, 6, 2, 5], Xp[2, 8, 3, 7], Xm[3, 6, 4, 5], Xm[4, 8, 0, 7]
]

oufij= CircuitDi agram[Xp[1, 6, 2, 5], Xp[2, 8, 3, 7], Xm[3, 6, 4, 5], Xm[4, 8, 0, 7]]
in[12):= PA[wWBor 2]
oufizj= AHD[ (t [6] ==t [5])? (t [8] =t [7])? (t [0] =t [1] =t [2] =t [3] =t [4]), {1}, WO], O]

in[13;:= wBor 3 = Ci rcui t Di agr am[
Xp[l, 7, 2, 6], Xm[8, 2, 9, 3], Xm[3, 5, 4, 6], Xp[9, 1, 8, 4]
]

oufiz= G rcuitDiagram[{Xp[1, 7, 2, 6], Xm[8, 2, 9, 3], Xm[3, 5, 4, 6], Xp[9, 1, 8, 4]]
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in[14]:= PA[wBor 3]
out14]= AHD[ (t [8] =t [9]) (t [5] =t [6] =t [7]) (t[1] =1t [2] =t [3] =t [4]), {5}, WT7], O]

in[15):= wBor4 = Ci rcui t Di agr am|
Xp[l, 7, 2, 6], Xp[2, 9, 3, 8], Xm[3, 5, 4, 6], Xm[4, 9, 1, 8]
1

ouusl= CircuitDiagram[Xp[1, 7, 2, 6], Xp[2, 9, 3, 8], Xm[3, 5, 4, 6], Xm[4, 9, 1, 8]]
in[16:= PA[WBor 4]

oufis)= AHD[ (t [9] =t [8])2 (t [5] =t [6] =1t [7]) (t[1] =t [2] =t [3] =t [4]), {5}, W7], O]



